BRI -4 LR

- g TpAen [T #1102 30 p ke
SONEEfCEE L s B Rl gl g 8-9
AEED A RTR R R e

d e 1 &%

2 %4 R 1 8 10 2t

=~ RS

500 ~ A48 % (H:7-11 ~ 2 o 25) 1,000 2
300 ~A8 & (H1:7-11 ~ 2 Fo 25) 600 2
bedp R B~ B4R 200 2+
g R R 150 2+
KERITVA 2 100 =-
Bk E 5t s iy K 85 Bk

T ik 2 Of &k e et 50 2




'ﬁ'ﬁifiﬁ%ﬁ}ﬁ’ + L5
- ~EFPaIlE4? TPIIITE9? S0P & -
o RFEREREERE C (FF R A SRR R )
(D. - (1 &) 37 ~4% 2
(2). %= £ (2 F) 18 ~4% 2
(3). %= £(2 )5+ =%z fj

- B T/E,Lﬂg’_f} ﬁ%’:ﬁg\ 2
£ GEARAFETOA Y o RIT A 2 L3EL
b5 R S Ay FEp Y oIl E 1P
23 B > )\ Aa\ﬁi:ié‘:
e 3 FALE e
® HwaEERy 10-20 K ® 20-40
(1) F v e e e a2 01_9f & ~
® dhwisiXARHy 21-30 K ® 41-60
Z £ (80%) ® fLwAEAERP 3 Kt ® 6]1-80
® s ltiEwrRBREETwrHEIFE
I%NZO% ° ® 0~2
(2) %k 315 {8 ® iitiwrird@wiRiid
o RN ® 3-5
~:u . 21%~60% °
A0 o iigrentirwrz |® Ol
61%~100% -
® LU LBEXSAKTIVR L H
E#5 A
o , @ %viaR(GE )R TSR ]
(3)‘/4 V] ),T—?_;%-,"’I—? i;__%gl‘f /;&(’ ﬁzr—g %g T/r
v 7 H(10%) @ RHMEFTERPRIL ] E
Flr BB 2r-(F&A3
FEgE4 RE2L )
® PLPMEFE IR o
= 2 = \
(4)f‘fﬂ’/{ﬁbgi ® W"jﬂ;/é/ﬁ‘ﬁﬁ%,‘n R o ;i;?\'gt/n
7 ® i Frrfes I oo
ELaVA R




S RO LR
- ~B3gfe s R4 (11 #1172 30 2k o
S EBRERRE 0 p A PREE Al R R T w ARk IF

FREFREBRY FREE(Fr e T v jg s B

B )E L #c o

A D) _

92 &~ A

1
6 +~10 « 10 2+

=~ WA TR IR




et RS 3 SR

fi

(). - & *{1)12
(2). %= (1 &)

\@ﬁm%ﬁ%gA%

fi

CEEFHAE Il E4Y 12
Heis AR R (B o AR

H Al s s pp

g A S 2 ik

11T #9% 30p

217

T B

<)

£ TLOBASTEE0A N BT I AT D LTI o
B Rk LA =EgpPi1llE ¢ P
ooy NS ‘ot
I P v A E)
& LR % # 7
(DA AR | > poapi o s S F PR | e £ R R R R
# (50%) 50 & o SRR SEI0A o B S 32 504 o
(Z)K/ /F /}?/4 > %:Qlf? ;hi B R * %;Qé *Erﬁg /;/ N /*/ﬁ‘ /*;é*;r'ﬁ% ‘Pi&@"*
5 (30%) HE RGBSR RE FRERZ FERT > AFTN04 0 85
B0 fe s 30 4 e I 30 & -
B)FEAEER | > 0B EREKT fAeih AR R T 2 B¢
B3y & 73 = e ETER o S & FIr B R T 7 ~ R R s
ﬂ,?fﬂ 7 K;;%iﬁr%’b EHEX 54 0 B 53 20 A B
(20%) e 20 A e
> 3:‘}/‘*/3-;% /%‘/% i
7~ ~ )7_:5‘_ N\ °
E\;%E"\,iﬁ% Kﬁﬁ"l?/z‘i\"ﬁi—é .43’47\;55’;3‘1{:&%?#4‘147\55\’&%4‘:
S FpEA EAY S AE10 A
AR -
A At

LIS -

PR EEL 2 HGLE) > £ ARA

T TR R

_"’_ Y

L) BAREITILER

e é_’}_% xil@%]lj o

A3 = o




